CORRECTED version 18-cycle in BVI-1/9
For u=[m,a,b,a,b,...] and m=1...b with the following PARAMETERS:  a= 3  b= 5  k= 1 (k=1 means smoothness is C1)
m= 1

 Sektor 1  alpha=  34  beta= 3  k= {-46,-80,-37}

 Sektor 2  alpha=  11  beta= 4  k= {-34,-80,-37}

 Sektor 3  alpha=  8  beta= 3  k= {6,-40,-37}

 Sektor 4  alpha=  25  beta= 10  k= {6,-28,-37}

 Sektor 5  alpha=  25  beta= 3  k= {-34,-28,-37}

 Sektor 6  alpha=  30  beta= 14  k= {-46,-40,-37}

m= 2

 Sektor 1  alpha=  15  beta= 3  k= {-46,-92,-43}

 Sektor 2  alpha=  17  beta= 6  k= {-46,-92,-43}

 Sektor 3  alpha=  13  beta= 4  k= {6,-40,-43}

 Sektor 4  alpha=  10  beta= 4  k= {6,-40,-43}

 Sektor 5  alpha=  11  beta= 3  k= {-46,-40,-43}

 Sektor 6  alpha=  10  beta= 5  k= {-46,-40,-43}

m= 3

 Sektor 1  alpha=  16  beta= 3  k= {-34,-80,-37}

 Sektor 2  alpha=  22  beta= 8  k= {-46,-80,-37}

 Sektor 3  alpha=  15  beta= 4  k= {6,-28,-37}

 Sektor 4  alpha=  12  beta= 4  k= {6,-40,-37}

 Sektor 5  alpha=  13  beta= 3  k= {-46,-40,-37}

 Sektor 6  alpha=  9  beta= 5  k= {-34,-28,-37}

m= 4

 Sektor 1  alpha=  20  beta= 3  k= {-10,-44,-19}

 Sektor 2  alpha=  26  beta= 9  k= {-34,-44,-19}

 Sektor 3  alpha=  21  beta= 5  k= {6,-4,-19}

 Sektor 4  alpha=  14  beta= 4  k= {6,-28,-19}

 Sektor 5  alpha=  15  beta= 3  k= {-34,-28,-19}

 Sektor 6  alpha=  11  beta= 6  k= {-10,-4,-19}

m= 5

 Sektor 1  alpha=  23  beta= 3  k= {26,16,11}

 Sektor 2  alpha=  31  beta= 11  k= {-10,16,11}

 Sektor 3  alpha=  23  beta= 5  k= {6,32,11}

 Sektor 4  alpha=  19  beta= 5  k= {6,-4,11}

 Sektor 5  alpha=  17  beta= 3  k= {-10,-4,11}

 Sektor 6  alpha=  13  beta= 7  k= {26,32,11}
 For u=[m,b,a,b,a,...] and m=1...a with the following 
PARAMETERS:  a= 3  b= 5  k= 1 (k=1 means smoothness is C1)
m= 1

 Sektor 1  alpha=  50  beta= 3  k= {-26,-52,-21}

 Sektor 2  alpha=  11  beta= 4  k= {-26,-52,-21}

 Sektor 3  alpha=  11  beta= 4  k= {10,-16,-21}

 Sektor 4  alpha=  38  beta= 15  k= {10,-16,-21}

 Sektor 5  alpha=  37  beta= 3  k= {-26,-16,-21}

 Sektor 6  alpha=  47  beta= 21  k= {-26,-16,-21}

m= 2

 Sektor 1  alpha=  16  beta= 3  k= {-6,-32,-11}

 Sektor 2  alpha=  17  beta= 6  k= {-26,-32,-11}

 Sektor 3  alpha=  12  beta= 4  k= {10,4,-11}

 Sektor 4  alpha=  10  beta= 4  k= {10,-16,-11}

 Sektor 5  alpha=  12  beta= 3  k= {-26,-16,-11}

 Sektor 6  alpha=  12  beta= 6  k= {-6,4,-11}

m= 3

 Sektor 1  alpha=  16  beta= 3  k= {34,28,19}

 Sektor 2  alpha=  20  beta= 7  k= {-6,28,19}

 Sektor 3  alpha=  14  beta= 4  k= {10,44,19}

 Sektor 4  alpha=  11  beta= 4  k= {10,4,19}

 Sektor 5  alpha=  13  beta= 3  k= {-6,4,19}

 Sektor 6  alpha=  9  beta= 5  k= {34,44,19}
